FA 1 th 15k - &R Th 51 180 & 1% X
No.2

1:2500 #i H2 K

+44.00

+46.00

-148.50

-148.50

N
W E
S
= =
& B
(1] zamn a37.2 = A =&
@12, 04 K # &
— ] E352% ol g EBNE
o5, ¢ EEELAL
R | EEEES ' & =
,,,,,,,,, 18,7 1t # R T
: & BEES
T} weomme | A190 STETA
B R R
H # psa . 5]
e =5 ke m B /M
+  FURNEE - R =
< = ® oA =1 -3
P » b & B R #
X £3 & & A =4
¥ H BB iu - DR
® %5 E B + I 3 5
fol T % 1 2 w®
& ZE B A T 2 2 B
[as] o) B 2 v %
x N B B Q4 | #®
= 1 - BKiE 4 g B #
o Eﬁiﬁﬂr&; i = %
5 B AR B AKMEAR
) ] o B MR o R
A R = F ol KT A
S BB B ¢ 0 R
X AHERE GO
® 28§ | 7" &E77TH
I
M EAR—L ° f N 0
S s
© BMERER & BR R
(na—o—72)
® " @ A ] oK E B
® g g E g =) B’
() VDMYEMIN » W
® mzg | TP F
S el et FTF
= R e
——————— #® & M *
T FS59him—4
“geed — ~ BRPOEHE %Rj{f)ﬁ"ﬁ
—_— L1
— R MR % E 1§
””””” TT
o Pt —_—
= gﬁﬁ)smw oL
i A Z & 8
I #FE T e R B R
- K B R
AT ®Em | B & R
+ 7 ———— H R
— - — _ BIfY - IR M
ERRR R
—_— % m R ——— ATETER
: m|° @ Y VIE E
I o (V3
~ 200 1l i
L. Al R
. o Eztr% ose i f@ N v ]tl,\m
o |= y
° 1A+ a BBl .
V_\V o |7 o |8 o Lo
X A $t ®| o 1 |PLHE
. £ 4 X Mg # - B
) R T S R -
S
ih ./'/'——-‘___.———‘—
e _/-/-/ e—
N —
\ L— - s
/ /‘/
1.8 e
./
//’./ s
i '/-
g '/ —
-/
,/
th e \\\ ‘
/ i
/ \& S Q
// g’% \ o il
TN i
iy
1‘& A
X 4.2 4.1 Q
EHINEINE 7 7 v K
ih .7\
IRRRRRRRRS e
4.3 bbbt bbbl Ll
277X | »th‘l L ‘ SR

FEEREEEEAMhE

FIEEREEET A

F—EREEEREERME

R ERETEEE R

F—iEEEhE

5 ZFE (T FE i (200%)

55 ZFE (X B #h 15 (300%)

HE 1 fE s

T ez .
/ e —
/ T Ry

35T [13% 7 3£ b 15 (200%)

AT i P 5% 1 12(300%)

P 3 Hh 15 (400%)

—T -
g - 72 3= Hh 15 (500%)

A T 3 Hhig

L2
\ L::
Chiss\ M

-150.00 -150.00

T i

+44.00 [
+46.00

T xF Rt

BOERE | 20 CHED

HE B A 33

1. £R29%128 &BE : == I\ I—.I.—]

2. :'zﬁk-soﬂi gﬁ ﬁ:mgjﬁﬁ 1 2’ 500 %wiﬂgggﬁt%ﬁﬁﬁgﬁiﬁ;ﬁ-ﬁéi?@ﬁ%&%t%@éﬁ%éﬁﬁﬁw Eﬁ b lﬂl]iﬂ_l_@*%% *A |}ﬁ el &= Sk v7va
0o s 100 200 300 400 500 m 015 BR A LR 2 00 (i D0 ewAL. BRE
BN TN I ] ARREEHGIVIFERALCHRERETIE AL, BESORDBELELT S, /W%{’F%*ﬁ&ﬁ *ﬂi:_l'—t%*i /"7\]




